A SHA 2.

>
> =g 11850

237

o0

237

11850




2.

AT} vrE A B0l A

Z2 o] ZIQ1Z] A2 A Q.

D 273X 36 *(3 11430
@ 187X 54 «®© 10098
(3 635%x18e «®© 9828

® O3, -0, 3-®
® 00, -0, -®
®ae, 20,66

B

@ 0-9, @6, ®-0
@ ©-6, @-0,®-0

@ 273 x 36
@ 187 x 54
® 635x18

@D 273 x 36 = 9828
@ 187 x 54 = 10098
@ 635 x 18 = 11430

@ 11430
><© 10098
© 9828




e DT

@100+50 @ 80 +20
@ 240 + 40 ® 350+ 70

® 640 + 80

02,0408 ®6,05
D<@0<B®<®<B




GigoHe 745 6015 3 £ 3014 el B

i 1&-2 2 527} HEA] oA L
» = B4
> Heh: 287

60 + 30 = 2
I8 B2 282yt




4
1o
W
N,
il
E
El
k=)
2
O
2
2
i/
A
rlo
v
I
A
il
i)
Bul
=

N
o

(1) 736 23 O 744+ 24
(2) 513+27 O 966 + 46

D >,= @ >,> (@)>,< @ <,= ® <>

(1) 736 + 23(= 32) > 744+ 24(= 31)
(2) 513 + 27(= 19) < 966 + 46(= 21)




ohg % ol 2 SRt of= AU

® 240+ 30 @ 640 = 80 @800 =10
@ 120=15 ® 720 +90

~&B

D240 +30=38
@640 +80 =38
3 800 =+ 10 = 80
@120+15=28
® 720+ 90 =8




7.

& kel (7h), (1), (FhE 2 24T s b
AU

300 x
(+h
500 x

(71 | = 21000
x 40 = 36000
(th | = 25000

(71 70, (L}) 900, (T}) 50

@ (7h), (), (h
@ (), (vh),




_%]

it

15000

b

ul
R0

.l

>

‘ 500 x 30 = 15000(¥)




= % A4t Z237F 10000 ©fl 7 7H7E AL ol AP

D 400 x 20 @ 50x 170 ® 189 x 70
@223 x 47 ® 520 % 36

B

@ 8000
@ 8500
® 13230
@ 10481
® 18720




10. ohg % WAl ymA s} o st

D 36+10 @ 96 +30 ® 86 + 40
@®)66 + 50 ® 76 +70

D36+-10=3---6

@96+30=3---6

@8 +40=2---6

@®66+-50=1---16

®76+-70=3---6




11. o= 3w o] 48 M4 & 356 G PUrth & ke
B4 Prohd B 2 ko] H 35Uzt

Sy =5
® 144t

356 +30 = 11---26
1145Fo] B3 26 o] E<51 .
o oW HES uEojof s 124to] Hujch,




12. o3 eAld] 52 Fokt A0 £ AL oL AYUR

@ 18x3 =54 @ 18x4=12 @18x5=90

@ 18 x6 =108 ® 18x7=126

187} o] Z=0] Zo| 92K} 3] ¢FOHA 929 717 77t
T7F 900 B, 2 5= A2 18 x5 = 90 4Y




i

©
2 77} =] A dE et A

@247 197 @ 443 187
® 3A7}, 1874

87 NS o Aol 347K HOoH &
o

13.

@ 347, 1974

@ 247}, 1874

87+34:2"‘19




14.

offl A5 682 s 1), h 5 ok UulA) F by 2 4

Ao j7}7

Ch "
H -

>
> =g 67

rr

U 2= v
67 YUYt}

il 2
T T

T} Hofok st Uz F Mg 2 4k




15. olx shelolA $47} 2905 H5UTh 8L 850
77+

®
N

, A

[e]
©
Foirt

)
e

650 L 1H] 11 g 2] ojHolof| A =33} 2|75 2+ 1 74

= BF Aok S9EA] Ao L

p 2

> EHED 16500 Y

Zh 850 x 11 = 9350 ()
70 %k 650 x 11 = 7150 ()
S 297 gk 1 9350 + 7150 = 16500 ()




16. o2 Lheie) gAr o e Z1e oju

® 90x3-42 @ 90x3x42

@ 90+3+42  (B)o0x3+12

® 90+ 3 x42

B

I8 B2 90 x 3 +42 = 312 YUYt

*
A) B oK B =k x A+O=mG U T},
Y




S o AdAtell 20704 "AL, 2 oF Al 12474 "o
2 gk, 297l 719709 8 925 A4 FE A7 Akl Hekvtd
| An

=

oL Aol duht o Fek=A] A2 F5HA L.
> =
» cf: 7R

> = A9
>

Hebr 1874

A9 1 719 +20 = 35---19
AW :925+12="77---1
wakA 2¢77F19 - 1 = 18(7) o Eekh.




18.

S 22E A

ofH 45 2302 Lirolof & A1 &
57013 e 2|7} s o] BglgrLe,
AVGE 59 245 5440
>
>

=
| — ]

22

b=
SH -

B

el Y ol

EHY 322
2

HEEA] A4TRE & v EA] A4

old £=[ [ std

AL A

[ ]+32=57---8

[ ] =32x57+8

[ ] =1832

LHFE Al 1 183223 ="79---15
79 — 57 = 22




19. e % Aol $ol 27olek Fuith. oote] ol
S s R L

709 =+ 28

B

709+ 28 =27---Q O|B&

709 = 28 x 27 + O °]tt.

O=3Y 9, 2827 +3 =759

O =139 1, 28 x 27 + 13 = 769

O =239 1, 28 x 27 + 23 = 779

w2hA o gt B0l 71 & &A= 7ot




[\
o
i
jille

X

of,

[*] mlo
T

k

1009 1€ 140l dadd o, 2538 5¢

«29 ol 29do] = afel =3y

B9 F 242 7t 42 o] HolX]= dlli= 2€o] 29 4 Y]
}.

29 F A2 £7F 0022 Et= sl 29l 28 LAY
E9] Al 2] =7} 000 2.2 = dfl= 2€0] 2994yt

[T
=

>
> e dad

[e]
—

B

210092 £o] = 28] £71 00 2.2 B sfjo] B = 2¥0] 28
A7HA] itk 199 F-2 4 =30, 292 28,392 5
dolBE 3H5U2 309 +28Y +5% = 63(Y) Folt.

63 +7=9°A Y27} gleB = ¥ doltt,




